Add fractions

Add 2 or more fractions

Subtract fractions

Subtract 2 fractions
Subtract from whole amounts
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Round to the nearest 100
6468

Even though you are rounding the same

LB numbers, are you going to get the same
589 answer each time?
7854

hittps:// www-topmarks.co-uk/ mativs-games/ doily10




P Lets recaqr owr termunology:

Denominator = number of equal parts

Numwerator = nuwmper of porty tivat yow haye
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Todoy we will be adding froctions.

R
Do~ yow remember anytung apoiit

adding fractions from Yeor 37
RN

What stays the same? What changes?










Use the bar model to work out which two fractions
have been added together.
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Use the bar model to work out which two fractions

have been added together. 2,/7 + 4‘/7 = 6/7
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- | Complete the number sentence.

Did we get different avswers?

s Hrot ok?




- | Complete the number sentence.

B 5 1 3
N 10 L0, 10 10

Did we get different avswers?

s Hrot ok?
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Lucille says it is impossible for both missing

numerators to be odd numbers.
Is Lucille correct? Explain with reasoning.
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13 1




Etensions

Add Fractions

Lucille says it is impossible for both missing

numerators to be odd numbers.
Is Lucille correct? Explain with reasoning.

B

1
+ — + —

1 13

13 13 13 + 13 = 13 Both 1 and 5 are odd.

\ Did you get find any other examples?
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M . [ [ Mo and Teddy share these chocolates.

L

. -
We can use this model to calculate 3
Draw your own models to calculate They both eat an odd number of
chocolates.
— 1 2 0O > 3 1 O v B} & Complete this number sentence to show
s ¥ iy 7 + 7 E - = a 10 3 6: 1o what fraction of the chocolates they

each could have eaten.
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